ARIC#HBANEEFE (FH2FE)

ZACHE e =
wE AFg AR = ARRTY - X
(k) (bv (Hhish) ) (%) (k)| A3 (RY) (k2)
IMETH 2,368.87 83.85
%EEET 32.99 117
SEHT 54.88 1.94
4 A 2,825.03 128.41 = AR 4483 159 2904.52 291.56
Etatli] 311.16 11.01
FRFF 12.30 0.44
MEh 2,417.90 83.94
%EEFHHT 32.62 1.13
SEET 56.76 1.97
5H 2,880.52 137.17 = AR 4495 176 3,628.00 357.36
RHT 316.43 10.99
FRFINNF 11.86 0.41
INBTH 2,701.31 8457
#EEEHT 36.13 1.13
EHT 58.67 1.84
6H 3,194.20 145.19 = AR 4230 132 298787 382.00
Etatlil] 342.51 10.72
FRF)IF 13.28 0.42
IMETH 2,709.90 83.85
%EEF}ET 40.80 1.26
T 60.45 1.87
71H 3,231.78 140.51 = ART 5977 163 3,498.56 379.99
RHET 354.18 10.96
FRFNIF 13.68 0.43
IMETH 2,654.34 82.95
#EEFHHT 46.85 1.46
na:i 65.47 2.05
8H 3,199.94 152.38 = AR 5006 157 3,369.26 356.63
R HT 368.07 11.50
FFINF 15.15 0.47
IMETH 2,628.61 83.79
%EEET 34.95 1.11
SEHT 53.63 1.71
9H 3,137.19 142.60 = AR 5616 179 99.31 63.68
Etatli] 349.99 11.16
FRFF 13.85 0.44
MEh 2,674.36 83.52
%EEFHHT 38.25 1.19
SEET 59.42 1.86
10AH 3,202.10 145.55 = AR 5377 168 3,237.64 287.37
RHET 362.11 11.31
FRFNIF 14.19 0.44
INBTH 2,546.82 83.93
#EEEET 32.38 1.07
EHT 53.65 1.77
1A 3,034.40 144.50 = AHT 4931 162 424416 435.44
Etatl:] 337.70 11.13
FRF)IF 14.54 0.48
MEH 2,568.88 84.94
JFEEF}ET 30.33 1.00
R 49.85 1.65
12H 3,024.29 131.49 = AHT 4899 160 3,452.04 358.30
RHET 311.99 10.32
FRFNIF 14.25 0.47
IMETH 2,291.97 84.73
?EEBT 27.89 1.03
EHT 44.28 1.64
1H 2,705.06 135.25 = AR 4181 165 2,580.37 249.59
R HT 283.99 10.50
FFINF 12.12 0.45
METH 2,079.69 84.64
%EEFHBT 23.55 0.96
SEHT 38.84 1.58
2H 2,457.04 122.85 = ART 3785 154 2,561.79 260.77
SHET 266.04 10.83
FRFF 11.07 0.45
MEh 2,546.54 84.63
EF}BT 31.06 1.03
EET 50.49 1.68
3H 3,009.14 130.83 = AR 4637 154 2,932.40 316.84
RHET 320.44 10.65
piadlIL o] 14.24 0.47
M8 30,189.19 84.09
#EEEET 407.80 1.14
A SEHT 646.39 1.80
&5t 35,900.69 138.08 = KB 57217 159 35,495.92 3,739.53
Etatl:] 3,924.61 10.93
pikidlIES] 160.53 0.45
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